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Course Administration

One midterm is still in limbo — so no exam returns
Vanilla summaries graded next week

Case summaries remaining for Lectures 13 and 14
Please come to office hours

Problem Set 7 posted

Chapter 7 End-of-Chapter questions posted

Exec in residence, up next

Any other questions or outstanding issues?
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Chad Davis, MPP '01
Vice President for Government
Affairs, Cato Institute

Government Relations and
Communications Strategy

Personnel Management and
Recruitment

Congressional and Agency Process
Banking and Housing Policy
Meet & Greet Program (16 minutes)

Cathy Helm, MPA '80
Former Inspector General,
Smithsonian Institution

Government Oversight and
Accountability

Mindful Leadership
Performance Auditing

Meet & Greet Program (19 minutes)

Executive in Residence Program

s 2

Omar Woodard, MPA '07

Executive Director, HRS
Management; Founder, Woodard
Impact; Philanthropy & Impact
Investing Professional, 26North

Government Relations at the Local, State,
and Federal levels

Philanthropy and Impact Investing

Nonprofit Management and Governance

Cross-sector collaboration

Role of strategic foresight in government
Meet & Greet Program (21 minutes)
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How What You're Learning is Policy-Relevant

Ripped from Headlines presentation(s)

As a reminder, next week
Send the article by Wednesday midnight for approval

Afternoon, joint presentation

Finder Presenter
Samantha C. Halle V.
Motunrayo F.  Taryn G.
Tia V. Michael J.

Evening, individual presentation

Finder Presenter
Heidi M. Tanya Q. (choose your article!)
Katelyn H.
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Today: How Economists Think About Welfare

Components of Policy Evaluation
Measuring Welfare: Surplus

Market Efficiency

Market Failure and Deadweight Loss
What Efficiency Doesn’t Cover

5: Beyond Eff.
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1. Components of Policy Evaluation
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Positive vs Normative Analysis

Positive analysis

® Assessments or predictions based on
measurable inputs and constraints

® For example
® Policy A will increase economic
growth by 10% and keep wages flat
for lowest-earning workers
® Policy B will increase economic
growth by 5% and increase wages for
lowest-earning workers by 6%

5: Beyond Eff
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Positive vs Normative Analysis

Positive analysis

® Assessments or predictions based on Normative analysis

measurable inputs and constraints ® Value judgements about which
* For example outcomes are preferred
® Policy A will increase economic ® For example
growth by 10% and keep wages flat ® We care most about wages for
for lowest-earning workers lowest-earners
® Policy B will increase economic ® Therefore we prefer Policy B to
growth by 5% and increase wages for Policy A

lowest-earning workers by 6%
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Positive or Normative?

4: Failure 5: Beyond Eff

Example

P or N?

Increase in blueberry price by 6% causes consumers to
decrease blueberry consumption by 2%
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Positive or Normative?

4: Failure 5: Beyond Eff

Example

P or N?

Increase in blueberry price by 6% causes consumers to
decrease blueberry consumption by 2%
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Positive or Normative?

Example

P or N?

Increase in blueberry price by 6% causes consumers to
decrease blueberry consumption by 2%
People should eat more blueberries, even if prices increase
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Positive or Normative?

Example P or N7
Increase in blueberry price by 6% causes consumers to p
decrease blueberry consumption by 2%

People should eat more blueberries, even if prices increase N




Admin RFH 1: Eval 2: Surplus 3: Efficiency 4: Failure 5: Beyond Eff.
[o]e] [o]e] [e]e]e] ] 0000000000000 00 000000 0000000 0000

Equity and Efficiency

e Efficient outcome = outcome that yields the greatest economic surplus
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Equity and Efficiency

o Efficient outcome = outcome that yields the greatest economic surplus

® A more efficient outcome is not necessarily an outcome that improves everyone's
well-being

® But: in the efficient outcome, there is enough surplus for winners to pay losers to
make everyone better off
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Equity and Efficiency

Efficient outcome = outcome that yields the greatest economic surplus

A more efficient outcome is not necessarily an outcome that improves everyone's
well-being

But: in the efficient outcome, there is enough surplus for winners to pay losers to
make everyone better off

This does not mean that winners always (or frequently) pay losers

Efficiency judgement does not place any weight on equity
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Equity and Efficiency

Efficient outcome = outcome that yields the greatest economic surplus

A more efficient outcome is not necessarily an outcome that improves everyone's
well-being

But: in the efficient outcome, there is enough surplus for winners to pay losers to
make everyone better off

This does not mean that winners always (or frequently) pay losers

Efficiency judgement does not place any weight on equity

Many times economists talk about an equity-efficiency trade-off
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2. Measuring Economic Surplus
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Economic Surplus

Economic surplus = Consumer surplus + Producer surplus
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Consumer Surplus

Consumer surplus = “difference between the amount consumers would be willing to
pay for a good and the amount they actually have to pay”
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Consumer Surplus

Consumer surplus = “difference between the amount consumers would be willing to
pay for a good and the amount they actually have to pay”

Consumer surplus = marginal benefit consumer receives from purchase minus the price
of purchase
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Getting to Consumer Surplus

Do people consuming at this price have a little or a lot or surplus?

p

P*

5: Beyond Eff.
0000
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And these people?

a lot of surplus

P*
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Where is Someone Without Surplus?

a lot of surplus

a little surplus

P*
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And Total Consumer Surplus?

a lot of surplus

a little surplus

P*

not any surplus at all

5: Beyond Eff.
0000



Admin RFH 1: Eval 2: Surplus 3: Efficiency 4: Failure
[o]e] [o]e] 0000 0000000e0000000 000000 0000000

The Whole Shebang of Consumer Surplus

a lot of surplus

a little surplus

P*

not any surplus at all

5: Beyond Eff.
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Identifying Consumer Surplus

® For which goods do you have a positive consumer surplus?
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Identifying Consumer Surplus

® For which goods do you have a positive consumer surplus?

® For which goods do you have a consumer surplus of zero?

5: Beyond Eff.
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Identifying Consumer Surplus

® For which goods do you have a positive consumer surplus?
® For which goods do you have a consumer surplus of zero?

® Give an example when your consumer surplus increased

4: Failure
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Calculating Consumer Surplus

p* N b Prl'(z,

oY

5: Beyond Eff.
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Calculating Consumer Surplus

CS

p* N b Prl'(z,

oY

5: Beyond Eff.
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Calculating Consumer Surplus

Prnax CS- %Q)Gs'c) x (_hCishf)
1 (R (Page~PY)

n

CS

p* ~ b Prl'(z,

2N

Qﬁ

5: Beyond Eff.
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Producer Surplus

® Producer surplus = “difference
between price at which producers are
willing to sell their good or service and
the price they actually receive”

® Producer surplus = price minus
marginal cost
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Producer Surplus

Producer surplus = “difference
between price at which producers are
willing to sell their good or service and
the price they actually receive”

Producer surplus = price minus
marginal cost

Producer surplus: above the supply
curve and below price

You are a producer of labor. Have you
ever received surplus?
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2: Surplus 3: Efficiency 4

Producer Surplus

® Producer surplus = “difference
between price at which producers are

o i K Price ($/pound)
willing to sell their good or service and 5 Total producer
H . ” lus PS
the price they actually receive N Sf“f’ ‘js /s
® Producer surplus = price minus Seller v's (359 v Marketprice
. producer 3 |
marglnal cost surplus = $1.50 2‘52: |
|
® Producer surplus: above the supply 1507 hSllipplYi i
curve and below price coreprre l
0 ! I ! ! Quantity of
® You are a producer of labor. Have you Loz 3 4 5 pounds)

ever received surplus?

® Can you think of another example?
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Calculating Producer Surplus

S

P’ / 'Prlce,

P

PS = L (base) x (height)

1 (@)~ (P-Pu)
Pnta

Q" R
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Gains From Trade

® Virtually everything you buy is on a “voluntary” basis

® Virtually everything firms sell is on a “voluntary” basis
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Gains From Trade

® Virtually everything you buy is on a “voluntary” basis

® Virtually everything firms sell is on a “voluntary” basis

5: Beyond Eff.

® — trade occurs only when it makes at least one party better off and the other no

worse off
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Gains From Trade

Virtually everything you buy is on a “voluntary” basis
Virtually everything firms sell is on a “voluntary” basis

— trade occurs only when it makes at least one party better off and the other no
worse off

— at least one party enjoys gains from trade
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Gains From Trade

Virtually everything you buy is on a “voluntary” basis
Virtually everything firms sell is on a “voluntary” basis

— trade occurs only when it makes at least one party better off and the other no
worse off

— at least one party enjoys gains from trade

Therefore, trade generates economic surplus
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3. Market Efficiency
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Perfectly Competitive Markets Maximize Economic Efficiency

Maximize economic efficiency = Create largest amount of economic surplus
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Perfectly Competitive Markets Maximize Economic Efficiency

Maximize economic efficiency = Create largest amount of economic surplus
1. How markets allocate how much each firm makes
2. How markets allocate how much each consumer gets

3. How markets determine total quantity
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1. How Much Each Firm Makes

® Suppose that firms in the same
industry differ in their marginal cost
curves

® Recall that the supply curve =
marginal cost curve

® Why might firms differ in marginal
cost?

5: Beyond Eff
0000
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1. How Much Each Firm Makes

® Suppose that firms in the same
industry differ in their marginal cost
curves

® Recall that the supply curve =
marginal cost curve

® Why might firms differ in marginal
cost?

® How will supply curves look when MC
differs?
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1. How Much Each Firm Makes

Suppose that firms in the same p /S. S,
industry differ in their marginal cost Gk
curves

Recall that the supply curve =
marginal cost curve

Why might firms differ in marginal
cost? Q

vz

How will supply curves look when MC
differs?

How much will each firm produce?
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1. How Much Each Firm Makes

Suppose that firms in the same
industry differ in their marginal cost
curves

Recall that the supply curve =
marginal cost curve

Why might firms differ in marginal
cost?

How will supply curves look when MC
differs?

How much will each firm produce?

— Markets distribute production across
firms to minimize cost
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Firm Closure During COVID

® What does this framework tell us to expect about firm closure during COVID?
® Which firms should have been the most likely to close?

® |s this consistent with your experience?
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2. How Much Each Consumer Gets

® Suppose that consumers differ in
marginal benefit for a good

® Marginal benefit measures willingness
to pay

e **Willingness to pay depends on
income — more on this later

® Recall that the demand curve =
marginal benefit curve

® What do MB curves look like?
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2. How Much Each Consumer Gets

Suppose that consumers differ in
marginal benefit for a good

Marginal benefit measures willingness
to pay

**Willingness to pay depends on
income — more on this later

Recall that the demand curve =
marginal benefit curve

What do MB curves look like?

How much does each consumer get?
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2. How Much Each Consumer Gets

Suppose that consumers differ in P
marginal benefit for a good

Marginal benefit measures willingness

to pay | ‘
**Willingness to pay depends on 7 \ T
income — more on this later

Recall that the demand curve = Q
marginal benefit curve

What do MB curves look like?

How much does each consumer get?
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2. How Much Each Consumer Gets

Suppose that consumers differ in
marginal benefit for a good

Marginal benefit measures willingness
to pay

**Willingness to pay depends on
income — more on this later

Recall that the demand curve =
marginal benefit curve

What do MB curves look like?

How much does each consumer get?

Y \ price
.‘\ SRR

A\

— Markets allocate production to those
with highest marginal benefits
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3. How Markets Determine Total Quantity

e Competitive market equilibrium /
. P
quantity where S =D
® Yields largest possible economic S
surplus
® Adam Smith’s “invisible hand” gets us
to this outcome (1776, The Wealth of D
Nations) s
&

® No planners, no organizers, no MPPs
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4. Market Failure and Deadweight Loss
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Limits of Competitive Market Framework

Competitive markets

e generate efficient production = “goods
produced at lowest overall cost”

® generate efficient allocation = “goods
allocated to those who receive the
largest benefits from them”

® — generate greatest possible
economic surplus

)

Beyond Eff.
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Limits of Competitive Market Framework

Competitive markets

e generate efficient production = “goods

. But... this rests on assumptions
produced at lowest overall cost

® Assumption of a perfectly competitive

. . S
generate efficient allocation goods market

allocated to those who receive the

largest benefits from them Definition of marginal benefit as

] willingness to pay
® — generate greatest possible

economic surplus
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Market Failure

In short, market is not perfectly competitive because

1. At least one producer has market power (more Lec. 11, Ch. 14)
2. Production or consumption generates externalities (more Lec. 13, Ch. 10)
® externality = impact of consumption or production in market of interest on another
market
® pollution can be a negative externality of production
® ability to communicate and verify contracts is a positive externality of literacy
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Market Failure

In short, market is not perfectly competitive because

[

. At least one producer has market power (more Lec. 11, Ch. 14)
. Production or consumption generates externalities (more Lec. 13, Ch. 10)
® externality = impact of consumption or production in market of interest on another
market
® pollution can be a negative externality of production
® ability to communicate and verify contracts is a positive externality of literacy

N

3. Information is not perfect
4. Consumers don't always behave rationally

5. Government intervenes
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Measuring Deviations from Efficiency: Deadweight Loss

® deadweight loss

® deadweight loss

economic surplus at efficient quantity - actual economic surplus
surplus that is thrown away



Admin RFH 1: Eval 2: Surplus 3: Efficiency 4: Failure 5: Beyond Eff.

000000000000000 0000000

Measuring Deviations from Efficiency: Deadweight Loss

deadweight loss = economic surplus at efficient quantity - actual economic surplus

deadweight loss = surplus that is thrown away

We usually measure economic surplus with supply and demand curves

When market is not perfectly competitive, supply curve may not equal marginal
cost and demand curve may not equal marginal benefit

So focus here on marginal benefit and marginal cost
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Deadweight Loss From Underproduction

® \What policies or market conditions
could cause less production than the
competitive equilibrium?

5: Beyond Eff.
0000
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Deadweight Loss From Underproduction

P <= Puli{ﬂ (('mﬂ'\'nj ‘“f’?“& o &F
S

Where is

® What policies or market conditions
deadweight lo ss?

could cause less production than the

competitive equilibrium? /
D

Q! éi QY
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Deadweight Loss From Underproduction

P <= Puli{ﬂ (('mﬂ'\'r\j ‘“f’?“& o &F
S

Where is

® What policies or market conditions
deadweight lo ss?

could cause less production than the

competitive equilibrium? / Trades Hoet dont
D fake place ducto

(nUaa..

G
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Deadweight Loss From Overproduction

® What policies or market conditions
might lead to production greater than
the competitive equilibrium?

5: Beyond Eff.
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Deadweight Loss From Overproduction

f“ = Poh’aj M’uutd
e What policies or market conditions Where i
might lead to production greater than deadwergrt loss ?
the competitive equilibrium?
b
t >




Admin RFH 1: Eval

2: Surplus 3: Efficiency
[o]e] [o]e]

4: Failure 5: Beyond Eff.
0000 0000000000000 00 000000 0000080 0000

Deadweight Loss From Overproduction

Poll'aj N—1U4‘JEA

e What policies or market conditions
might lead to production greater than
the competitive equilibrium?

VWhere i

dea Awesght loss 7

Trexdes Aot
would not
have occumd but

for ‘ﬁ-—:p-b%..

Quantity determines the extent of deadweight loss
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What Can Correct Market Failure?

e Market failure is
prevalent

® So look to
government

e But...
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What Can Correct Market Failure?

Sometimes the cure is worse than the disease

e government can fail, too
® can you give an example of government failure to

. . provide or allocate goods?
® Market failure is

prevalent

® So look to
government

e But...



e Market failure is

prevalent

® So look to
government

e But...
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What Can Correct Market Failure?

Sometimes the cure is worse than the disease

e government can fail, too

® can you give an example of government failure to
provide or allocate goods?
® Regulated airline industry, pre-1980s

until 1978 Civil Aeronautics Board regulated interstate
routes and fares

® in-state routes not regulated and much lower priced
® Carter leads deregulation efforts
® |ots of expansion in late 1970s, then a crash in early

1980s
industry more volatile, some non-stops disappear, fares
way lower
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5. Criteria in Addition to Efficiency
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Critiques of Efficiency Analysis

1. Equity matters too
® efficiency is about the size of the entire pie
® ignores how the pie is split
® but we also care about distributional consequences: who gets what

5: Beyond Eff.
0®00
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Critiques of Efficiency Analysis

1. Equity matters too

® efficiency is about the size of the entire pie

® ignores how the pie is split

® but we also care about distributional consequences: who gets what
2. Marginal benefit is defined as willingness to pay

® willingness to pay measures both tastes and income
® by definition this skews benefits towards those with more money
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1. Equity matters too

® efficiency is about the size of the entire pie
® ignores how the pie is split
® but we also care about distributional consequences: who gets what

2. Marginal benefit is defined as willingness to pay

® willingness to pay measures both tastes and income
® by definition this skews benefits towards those with more money

3. Some care about process of generating surplus

® may prefer giving surplus only to those generating it
® may prefer surplus generated only with consensus decisionmaking
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Critiques of Efficiency Analysis

1. Equity matters too

® efficiency is about the size of the entire pie
® ignores how the pie is split
® but we also care about distributional consequences: who gets what

2. Marginal benefit is defined as willingness to pay

® willingness to pay measures both tastes and income
® by definition this skews benefits towards those with more money

3. Some care about process of generating surplus
® may prefer giving surplus only to those generating it
® may prefer surplus generated only with consensus decisionmaking

— Efficiency is one goal among many
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Using This Framework to Evaluate Policy

. What are the likely impacts of a given policy?

what are impacts on workers?
on producers?

on consumers?

on total surplus?

. Are outcomes under this policy better than the status quo? (helps us think about

opportunity cost)

. Can alternative policies generate the same outcome in a better way?
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For Next Class

® Do problem set
® Read Chapter 8

® Read Ripped from Headlines articles
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For Next Class

® Do problem set
® Read Chapter 8
® Read Ripped from Headlines articles
I will
® post these lecture notes on my webpage
® post link to lecture recording on Blackboard

® anything else?

5: Beyond Eff.
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